

**CITY OF HOBART SANITARY DISTRICT BOARD OF COMMISSIONERS
Resolution No. 2012-02**

**A Resolution Determining the Lowest Responsible and Responsive Bidder
and Award of the Contract for the South Mundell Sewer Improvement Project
(Project "A") and the North Joliet Street Sewer Improvement Project (Project "B")**

WHEREAS, the Board of Commissioners ("Board") of the City of Hobart Sanitary District ("District") previously authorized the preparation of plans and specifications for two sewer improvement projects to be funded by a borrowing from the Indiana State Waste Water Revolving Fund ("SRF"), the same being the South Mundell Sewer Improvement Project (Project "A") and the North Joliet Street Sewer Improvement Project (Project "B"); and

WHEREAS, said plans and specifications were duly prepared by the District's consulting engineers, Butler, Fairman & Seufert, Inc. of Indianapolis, Indiana ("BF&S"); and

WHEREAS, the Board, at its meeting of July 11, 2012, approved Notice to Bidders in the proper form and authorized the publication of same for the projects in the manner required by law, the two projects to be bid in such fashion that bids could be submitted on Project "A" alone, Project "A" with Project "B" as a mandatory alternate, and Project "B" alone, and said Notice was duly published as required by I.C. 5-3-1 two times each in *The Times* and *Post-Tribune* on July 18 and July 25, 2012; and

WHEREAS, Pursuant to said Notice, bids were due to be delivered to the Offices of the Clerk-Treasurer of the City of Hobart in City Hall not later than 3:30 p.m., August 8, 2012, and such bids were to be opened and read aloud at the Board meeting duly convened pursuant to public notice given in the manner required by law commencing at 6:00 p.m. on said date; and

WHEREAS, six (6) bids were received for Project "A" and for Project "A" with Alternate 1 (Project "B"), and two (2) bids were received for Project "B" alone; and all of such bids were duly opened read by the Board at the appointed time. Such bids are detailed and summarized on the attached tabulation which is attached hereto and made a part hereof as Exhibit "1;" and

WHEREAS, said bids were taken under advisement by the Board for technical review by BF&S, and

WHEREAS, the putative low bidders and amount of bid for each Project are as follows:

Project A (alone):

Grimmer Construction Co., Inc.
2619 Main Street
Highland, Indiana 46322

\$ 2,148,212.25

Project A with Alternate No. 1:

Rex Construction Company, Inc. \$ 2,743,587.09
700 Schiller Avenue
Schererville, Indiana 46375

Project B (alone):

De Boer Egolf Corp. \$ 591,921.90
5772 Melton Road
Portage, Indiana 46368;

and

WHEREAS, the Board has received the recommendation of BF&S as to the acceptance of the Alternate No. 1 to Project "A," and whether the putative low-bidders' bids meet the plans and specifications for the projects, based on the bids received, and

WHEREAS, said bids were submitted to Anthony DeBonis, Jr., City Attorney, for legal review and the rendition of his opinion as to the City's compliance with the bid process required by law and the award of the contracts; and

WHEREAS, the Board has received the reports on the technical review of the bids by said consulting engineers and the opinion of the City Attorney as to the award of the contracts and compliance of the City with the bid process required by law; and

WHEREAS, the Board, in evaluating said bids, is required to determine the lowest responsible and responsive bidder as required by I.C. §36-1-12-4 (b)(8), and must do so taking those factors into account specified in I.C. §36-1-12-4 (b)(10) and (11); and

WHEREAS, the Board, having reviewed the reports and opinion noted above, desires to make its findings as to the lowest responsible and responsive bidders, to award the project contract or contracts to such bidder or bidders, and to spread same upon the public record.

THEREFORE, BE IT RESOLVED by the Board of Commissioners of the Hobart Sanitary District that:

a. Choice of Awards. The Board finds that it has three alternatives for the disposition of the bids on these projects as follows:

1. Award a Contract for Project "A" with alternate 1 (which alternate is the same scope of work as Project "B"), based on the bids submitted for Project "A" with Alternate No. 1.

2. Award Contracts separately for Project "A" and Project "B" based on the separate bids submitted for each.

3. Reject all bids and rebid both projects.

b. Evaluation of Bids. In determining which bid award alternative to accept, the Board finds that the difference between awarding a single contract to the lowest composite bid (Project "A" plus Alternate No. 1) and separate contracts for "A" & "B" is small. The separate contracts would total \$ 2,740,134.15 versus the lowest composite bid of \$ 2,743,587.09, a difference of \$3,452.94 in favor of the separate contracts. However, the Board has been advised that the increased costs of engineering inspection and project supervision for two contractors is much higher than with one. BF&S estimates that a two-contractor award will raise the cost of the total of both projects by approximately \$30,000.00 over a single-contractor award. Thus, a two-contract award, one for each project, is not financially advantageous to the District.

c. Bid Complaints. One bidder, Rex Construction Co., Inc. complained to one of the members of the Board that it was discouraged from submitting its bid for Contract B by a BF&S representative who led it to believe that a separate bid on "B" was unnecessary. When interviewed by the Board's counsel, Rex indicated that while it understood that it could not be awarded "B" on a separate contract basis unless it bid separately on "B," it did not bid contract "B" because it did not have the bid forms for "B" since its check to purchase plans for "B" was returned, those plans (but not the bid forms) included with "A." Rex made no request for the "B" bid forms separately. Two other bidders, Grimmer Construction Co. and Gatlin Plumbing and Heating, Inc. indicated that while the bid configuration was out of the ordinary, they understood that a separate bid on "B" was necessary to be awarded only that contract. They advised counsel that they chose not to bid on "B" because they did want to risk being awarded that project alone.

Based on these facts, the board finds that there was no inconsistency or ambiguity in the bid configuration that compromised the effectiveness of the bidding process.

d. Award. The Board further finds that:

1. For the reasons specified above, and based on the recommendation of the Board's consulting engineer and City Attorney, the Board determines that, in accord with §19.01 of the Instructions to Bidders, the award of a single contract for Project "A" with Alternate No. 1 is most cost-effective and advantageous to the District. Accordingly, the District Board now rejects all bids for Project "B" which were submitted separately from "A."

2. Rex Construction Co., Inc. of Schererville, Indiana is the putative low-bidder on the composite ("A" plus Alternate No. 1) bids received. BF & S has found that the Rex bid is in conformance in all material respects with all bid requirements and specifications. The City Attorney's review concluded that Rex has complied with all statutory and other bid requirements imposed by law. Further, Rex has the ability and capacity to perform the work, and that said bidder also possesses the integrity, character, reputation, competence and experience to support the award of project contracts.

3. Based upon said findings, the Board determines that Rex Construction Co., Inc. is the lowest responsible and responsive bidder and subject to the condition precedent expressed in the next paragraph, awards the contract for the performance of Project A with Alternate No. 1 to Rex. The contract shall consist of the bid documents submitted by the successful bidder, together with and including the plans, specifications, and notice and instructions to bidders.

4. The award of the contract for Projects "A" and "B" is made expressly contingent on the satisfactory completion of the issuance of SRF bonds by the District, the sale thereof and the availability of the proceeds to finance the contract. Unless such funds are available for release within 180 days from the date hereof, the award made in this instrument shall be null and void..

e. The Clerk-Treasurer is requested to notify all bidders of the Board's action, to return the bid bonds or other bid security posted by the unsuccessful bidders, and to thank them for their participation in the bid process.

ALL OF WHICH is adopted as the Resolution of the Board of Commissioners of the Hobart Sanitary District on this 29 day of August, 2012.


ROBERT B FULTON, President

ATTEST:


Ma LISA COX, Secretary



BIDS RECEIVED ON: August 8, 2012

Item No	Description	Quantity	Unit	Engineer's Estimate		Rex Construction Co., Inc.		Gimmer Construction, Inc.		de Boer Egloff Corp.		Woodruff and Sons, Inc		Gatlin Plumbing & Heating, Inc.		LGS Plumbing, Inc.	
				Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
1.0	Mobilization and Demobilization	1	LS	\$85,000.00	\$85,000.00	\$150,000.00	\$150,000.00	\$227,400.00	\$227,400.00	\$96,400.00	\$96,400.00	\$92,200.00	\$92,200.00	\$85,000.00	\$85,000.00	\$85,000.00	\$85,000.00
2.0	Clearing of Right-of-Way	1	LS	\$15,000.00	\$15,000.00	\$1,000.00	\$1,000.00	\$105,700.00	\$105,700.00	\$48,000.00	\$48,000.00	\$278,000.00	\$278,000.00	\$65,000.00	\$65,000.00	\$47,420.00	\$47,420.00
3.0	Maintenance of Traffic	1	LS	\$20,000.00	\$20,000.00	\$3,000.00	\$3,000.00	\$30,400.00	\$30,400.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$17,000.00	\$17,000.00
4.0	24" Storm Pipe	937	LFT	\$60.00	\$56,220.00	\$98.00	\$82,456.00	\$96.00	\$89,932.00	\$68.00	\$63,716.00	\$95.00	\$89,015.00	\$144.00	\$134,928.00	\$116.00	\$108,692.00
5.0	18" Storm Pipe	521	LFT	\$50.00	\$26,050.00	\$63.00	\$32,823.00	\$72.30	\$37,668.30	\$55.00	\$28,739.50	\$71.00	\$37,000.00	\$101.00	\$52,621.00	\$105.00	\$54,705.00
6.0	15" Storm Pipe (HDPE or PVC)	2222	LFT	\$30.00	\$66,660.00	\$63.00	\$139,986.00	\$64.70	\$143,763.40	\$64.70	\$143,763.40	\$59.00	\$131,098.00	\$89.00	\$197,758.00	\$125.00	\$277,750.00
7.0	15" Storm Pipe (HDPE or PVC)	20	LFT	\$45.00	\$900.00	\$50.00	\$1,000.00	\$54.70	\$1,094.00	\$55.00	\$1,100.00	\$55.00	\$1,100.00	\$91.00	\$1,820.00	\$125.00	\$2,500.00
8.0	15" Storm Pipe (HDPE or PVC)	1182	LFT	\$45.00	\$53,190.00	\$50.00	\$59,100.00	\$53.20	\$62,887.40	\$53.20	\$62,887.40	\$55.00	\$65,010.00	\$74.00	\$87,468.00	\$99.00	\$117,460.00
9.0	12" Storm Pipe (HDPE or PVC)	60	LFT	\$40.00	\$2,400.00	\$53.00	\$3,180.00	\$58.10	\$3,486.00	\$58.10	\$3,486.00	\$55.00	\$3,300.00	\$64.00	\$3,840.00	\$72.00	\$4,320.00
10.0	12" Storm Pipe (HDPE or PVC)	404	LFT	\$40.00	\$16,160.00	\$53.00	\$21,412.00	\$58.10	\$23,472.40	\$58.10	\$23,472.40	\$41.00	\$16,564.00	\$56.50	\$22,826.00	\$67.00	\$27,068.00
11.0	42" Steel Casing Pipe	88	LFT	\$500.00	\$44,000.00	\$650.00	\$57,800.00	\$805.00	\$70,840.00	\$805.00	\$70,840.00	\$740.00	\$65,120.00	\$770.00	\$67,760.00	\$1,050.00	\$92,400.00
12.0	Manhole, Type K	1	EACH	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00	\$15,500.00	\$15,500.00	\$6,100.00	\$6,100.00	\$14,200.00	\$14,200.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00
13.0	Manhole, Type J	1	EACH	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,050.00	\$4,050.00	\$4,050.00	\$4,050.00	\$6,300.00	\$6,300.00	\$6,300.00	\$6,300.00	\$6,300.00	\$6,300.00
14.0	Manhole, Type C	27	EACH	\$3,500.00	\$94,500.00	\$2,150.00	\$58,050.00	\$2,200.00	\$59,400.00	\$2,200.00	\$59,400.00	\$2,750.00	\$74,250.00	\$2,920.00	\$79,840.00	\$2,200.00	\$59,400.00
15.0	Common Excavation	35	CYS	\$1,500.00	\$52,500.00	\$2,150.00	\$75,250.00	\$1,800.00	\$63,000.00	\$1,800.00	\$63,000.00	\$2,300.00	\$80,550.00	\$2,380.00	\$83,300.00	\$2,700.00	\$94,500.00
16.0	HMA Surface, Type A	5925	CYS	\$12.00	\$71,100.00	\$22.00	\$130,350.00	\$25.20	\$149,310.00	\$25.20	\$149,310.00	\$23.00	\$136,275.00	\$27.00	\$159,975.00	\$23.00	\$136,275.00
17.0	HMA Intermediate, Type A	1074	TON	\$100.00	\$107,400.00	\$78.00	\$83,772.00	\$72.50	\$77,865.00	\$72.50	\$77,865.00	\$78.00	\$84,846.00	\$77.00	\$82,698.00	\$77.00	\$82,698.00
18.0	HMA Intermediate, Type A	1775	TON	\$80.00	\$142,000.00	\$68.00	\$120,760.00	\$62.50	\$110,937.50	\$62.50	\$110,937.50	\$68.00	\$120,700.00	\$66.00	\$117,150.00	\$66.00	\$117,150.00
19.0	Compacted Aggregate, No. 53, Base	6422	TON	\$25.00	\$160,550.00	\$20.50	\$131,651.00	\$28.20	\$181,106.40	\$28.20	\$181,106.40	\$25.00	\$160,550.00	\$23.00	\$148,206.00	\$23.00	\$148,206.00
20.0	Z Concrete Roll Curb and Gutter	6523	LFT	\$20.00	\$130,460.00	\$13.00	\$84,799.00	\$15.50	\$101,106.50	\$15.50	\$101,106.50	\$14.00	\$91,322.00	\$16.00	\$104,968.00	\$16.00	\$104,968.00
21.0	PCCP for Drives, 6"	592	SYS	\$35.00	\$20,770.00	\$42.50	\$25,160.00	\$41.80	\$24,748.60	\$41.80	\$24,748.60	\$48.00	\$28,116.00	\$56.00	\$33,328.00	\$56.00	\$33,328.00
22.0	Concrete Sidewalk, 4"	3032	SYS	\$35.00	\$106,700.00	\$35.00	\$106,700.00	\$40.70	\$124,402.40	\$40.70	\$124,402.40	\$75.00	\$228,075.00	\$130.00	\$394,500.00	\$130.00	\$394,500.00
23.0	Temporary Pavement Patch	415	SYS	\$100.00	\$41,500.00	\$71.00	\$29,465.00	\$74.50	\$30,917.50	\$74.50	\$30,917.50	\$1.00	\$1,000.00	\$45.00	\$18,825.00	\$5.00	\$2,500.00
24.0	Mulch Seedling, Type 1	4000	SYS	\$9.00	\$36,000.00	\$0.01	\$40.00	\$0.01	\$40.00	\$0.01	\$40.00	\$2.00	\$8,000.00	\$5.00	\$20,000.00	\$2.00	\$8,000.00
25.0	Structure Backfill	6737	CYS	\$25.00	\$168,425.00	\$20.01	\$136,540.00	\$27.75	\$186,900.00	\$27.75	\$186,900.00	\$23.00	\$155,805.00	\$21.00	\$142,065.00	\$21.00	\$142,065.00
26.0	Frame and Casting, Sanitary	14	EACH	\$1,500.00	\$21,000.00	\$650.00	\$9,100.00	\$724.00	\$10,136.00	\$724.00	\$10,136.00	\$900.00	\$12,600.00	\$635.00	\$8,890.00	\$500.00	\$7,000.00
27.0	Adjust Casting to Grade	6	EACH	\$500.00	\$3,000.00	\$350.00	\$1,750.00	\$456.00	\$2,736.00	\$456.00	\$2,736.00	\$200.00	\$1,200.00	\$333.00	\$1,998.00	\$250.00	\$1,500.00
28.0	6" Sanitary Lateral	3600	LFT	\$35.00	\$126,000.00	\$69.50	\$249,300.00	\$34.00	\$122,400.00	\$34.00	\$122,400.00	\$22.50	\$81,000.00	\$33.00	\$118,800.00	\$78.00	\$280,800.00
30.0	Sanitary Churnout	130	EACH	\$250.00	\$32,500.00	\$200.00	\$26,000.00	\$400.00	\$52,000.00	\$400.00	\$52,000.00	\$275.00	\$35,875.00	\$275.00	\$35,875.00	\$275.00	\$35,875.00
31.0	Sanitary Service Connection	120	EACH	\$1,500.00	\$180,000.00	\$200.00	\$24,000.00	\$275.00	\$33,000.00	\$275.00	\$33,000.00	\$1,700.00	\$204,000.00	\$1,450.00	\$174,000.00	\$1,950.00	\$234,000.00
32.0	6" Storm Lateral	3600	LFT	\$25.00	\$90,000.00	\$55.00	\$198,000.00	\$36.80	\$132,480.00	\$36.80	\$132,480.00	\$59.00	\$212,400.00	\$32.50	\$117,000.00	\$62.00	\$223,200.00
33.0	Minor Storm Connection	15	EACH	\$1,000.00	\$15,000.00	\$400.00	\$6,000.00	\$356.00	\$5,340.00	\$356.00	\$5,340.00	\$700.00	\$10,500.00	\$2,200.00	\$33,000.00	\$2,100.00	\$31,500.00
34.0	Nature Top Seal	550	CYS	\$10.00	\$5,500.00	\$46.50	\$25,575.00	\$34.10	\$18,755.00	\$34.10	\$18,755.00	\$30.00	\$16,500.00	\$29.00	\$15,950.00	\$40.00	\$22,000.00
35.0	Drop Inlet Protection	50	EACH	\$100.00	\$5,000.00	\$100.00	\$5,000.00	\$198.00	\$9,900.00	\$198.00	\$9,900.00	\$200.00	\$10,000.00	\$92.00	\$4,600.00	\$150.00	\$7,500.00
36.0	Special Manhole Connection	4	EACH	\$2,000.00	\$8,000.00	\$1,000.00	\$4,000.00	\$1,090.00	\$4,360.00	\$1,090.00	\$4,360.00	\$1,500.00	\$6,000.00	\$1,850.00	\$7,400.00	\$1,789.50	\$7,158.00
TOTAL BASE BID PRICES				\$2,098,423.00	\$2,157,148.35	\$2,148,212.25	\$2,293,059.00	\$2,632,717.00	\$2,725,000.00	\$3,742,357.00							

EXHIBIT 1



BIDS RECEIVED ON August 8, 2012

Item No.	Description	Quantity	Unit	Engineer's Estimate		Rea Construction Co., Inc.		Grimmer Construction, Inc.		de Beer Egoff Corp.		Woodruff and Sons, Inc.		Gallin Plumbing & Heating, Inc.		LOS Plumbing, Inc.	
				Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
1.0	Mobilization and Demobilization	1	LS	\$30,000.00	\$30,000.00	\$35,000.00	\$35,000.00	\$95,000.00	\$95,000.00	\$35,500.00	\$35,500.00	\$32,100.00	\$32,100.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00
2.0	Maintenance of Traffic	1	LS	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00	\$25,000.00	\$25,000.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00
3.0	Temporary Silt Fence	217	LFT	\$5.00	\$1,085.00	\$3.50	\$759.50	\$3.80	\$824.60	\$4.00	\$868.00	\$5.00	\$1,085.00	\$3.00	\$651.00	\$4.00	\$868.00
4.0	Drop Inlet Protection	19	EACH	\$100.00	\$1,900.00	\$100.00	\$1,900.00	\$198.00	\$3,762.00	\$200.00	\$3,800.00	\$92.00	\$1,748.00	\$150.00	\$2,850.00	\$200.00	\$3,800.00
5.0	42" Storm Pipe (RCP)	245	LFT	\$80.00	\$19,600.00	\$160.00	\$39,200.00	\$183.00	\$44,835.00	\$130.00	\$31,850.00	\$165.00	\$40,425.00	\$150.00	\$36,750.00	\$150.00	\$36,750.00
6.0	36" Storm Pipe (RCP)	27	LFT	\$65.00	\$1,755.00	\$155.00	\$4,185.00	\$158.00	\$4,266.00	\$120.00	\$3,240.00	\$140.00	\$3,780.00	\$82.00	\$2,214.00	\$82.00	\$2,214.00
7.0	24" Storm Pipe	1278	LFT	\$60.00	\$76,680.00	\$68.00	\$86,856.00	\$98.00	\$125,664.00	\$68.00	\$86,856.00	\$68.00	\$86,856.00	\$95.00	\$121,410.00	\$82.00	\$104,796.00
8.0	18" Storm Pipe	310	LFT	\$50.00	\$15,500.00	\$63.00	\$19,539.00	\$72.30	\$22,413.00	\$58.00	\$17,916.00	\$58.00	\$17,916.00	\$62.00	\$19,436.00	\$62.00	\$19,436.00
9.0	15" Storm Pipe	783	LFT	\$45.00	\$35,235.00	\$50.00	\$39,150.00	\$58.10	\$45,491.70	\$55.00	\$43,065.00	\$55.00	\$43,065.00	\$58.00	\$45,540.00	\$58.00	\$45,540.00
10.0	12" Storm Pipe	923	LFT	\$40.00	\$36,920.00	\$48.00	\$44,256.00	\$56.10	\$51,800.10	\$41.00	\$37,843.00	\$41.00	\$37,843.00	\$41.00	\$37,843.00	\$41.00	\$37,843.00
11.0	Manhole, Type P	1	EACH	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$12,600.00	\$12,600.00	\$7,900.00	\$7,900.00	\$12,650.00	\$12,650.00	\$7,250.00	\$7,250.00	\$7,250.00	\$7,250.00
12.0	Manhole, Type K	15	EACH	\$3,500.00	\$52,500.00	\$7,500.00	\$112,500.00	\$2,200.00	\$33,000.00	\$15,500.00	\$232,500.00	\$15,500.00	\$232,500.00	\$15,500.00	\$232,500.00	\$15,500.00	\$232,500.00
13.0	Manhole, Type C	15	EACH	\$5,000.00	\$75,000.00	\$5,000.00	\$75,000.00	\$7,500.00	\$112,500.00	\$6,100.00	\$91,500.00	\$6,100.00	\$91,500.00	\$6,100.00	\$91,500.00	\$6,100.00	\$91,500.00
14.0	Manhole, Type A	12	EACH	\$1,500.00	\$18,000.00	\$2,150.00	\$25,800.00	\$2,800.00	\$33,600.00	\$1,800.00	\$21,600.00	\$2,800.00	\$33,600.00	\$2,800.00	\$33,600.00	\$2,800.00	\$33,600.00
15.0	Milling Asphalt, 1.5"	8693	SYS	\$3.00	\$25,779.00	\$2.25	\$19,459.25	\$2.15	\$18,689.95	\$2.15	\$18,689.95	\$2.50	\$21,725.00	\$2.50	\$21,725.00	\$2.50	\$21,725.00
16.0	HMA Surface, Type A	813	TON	\$100.00	\$81,300.00	\$78.00	\$63,414.00	\$72.50	\$59,122.50	\$78.00	\$63,414.00	\$78.00	\$63,414.00	\$78.00	\$63,414.00	\$78.00	\$63,414.00
17.0	HMA Intermediate, Type A	158	TON	\$90.00	\$14,220.00	\$85.00	\$13,425.00	\$80.00	\$12,640.00	\$88.00	\$13,904.00	\$88.00	\$13,904.00	\$88.00	\$13,904.00	\$88.00	\$13,904.00
18.0	Compacted Aggregate, No. 53, Base	441	TON	\$25.00	\$11,025.00	\$20.50	\$9,042.50	\$28.20	\$12,432.60	\$25.00	\$11,025.00	\$25.00	\$11,025.00	\$25.00	\$11,025.00	\$25.00	\$11,025.00
19.0	2" Concrete Roll Curb and Gutter	312	LFT	\$20.00	\$6,240.00	\$20.50	\$6,396.00	\$20.90	\$6,519.00	\$20.00	\$6,240.00	\$20.00	\$6,240.00	\$20.00	\$6,240.00	\$20.00	\$6,240.00
20.0	POCC for Drains, 6"	657	SYS	\$55.00	\$36,235.00	\$42.50	\$27,912.50	\$41.80	\$27,462.60	\$48.00	\$31,536.00	\$56.00	\$36,792.00	\$56.00	\$36,792.00	\$56.00	\$36,792.00
21.0	Concrete Sidewalk, 4"	452	SYS	\$55.00	\$25,360.00	\$35.00	\$15,820.00	\$40.70	\$18,413.90	\$47.00	\$21,249.00	\$35.00	\$12,325.00	\$35.00	\$12,325.00	\$35.00	\$12,325.00
22.0	Mudbed Sealing, Type 1	3205	SYS	\$4.00	\$12,820.00	\$2.20	\$7,051.00	\$2.70	\$8,653.50	\$2.00	\$6,410.00	\$2.00	\$6,410.00	\$2.00	\$6,410.00	\$2.00	\$6,410.00
23.0	Structure Backfill	2404	CYS	\$25.00	\$60,100.00	\$0.01	\$24.04	\$0.01	\$24.04	\$23.00	\$55,292.00	\$21.00	\$50,484.00	\$0.01	\$24.04	\$0.01	\$24.04
24.0	42" Concrete End Section	1	EACH	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$3,020.00	\$3,020.00	\$2,200.00	\$2,200.00	\$2,650.00	\$2,650.00	\$5,000.00	\$5,000.00	\$5,000.00	
25.0	Riprap, Revertment	8	TON	\$1,400.00	\$11,200.00	\$150.00	\$1,200.00	\$177.00	\$1,416.00	\$100.00	\$800.00	\$300.00	\$3,000.00	\$325.00	\$3,800.00	\$325.00	\$3,800.00
26.0	Fire Hydrant, Relocate	1	EACH	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,520.00	\$2,520.00	\$2,500.00	\$2,500.00	\$1,970.00	\$1,970.00	\$3,800.00	\$3,800.00	\$3,800.00	
27.0	Remove and Replace Guardrail	200	LFT	\$1,000.00	\$200,000.00	\$90.00	\$18,000.00	\$54.00	\$10,800.00	\$100.00	\$20,000.00	\$41.00	\$8,200.00	\$30.00	\$6,000.00	\$30.00	\$6,000.00
28.0	Special Manhole Connection	4	EACH	\$1,500.00	\$6,000.00	\$4,000.00	\$16,000.00	\$1,090.00	\$4,360.00	\$1,500.00	\$6,000.00	\$1,950.00	\$7,800.00	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00
29.0	Temporary Pavement Patch	1995	SYS	\$9.00	\$17,955.00	\$0.01	\$19.95	\$0.01	\$19.95	\$19.95	\$19.95	\$45.00	\$89.775.00	\$30.00	\$59,850.00	\$30.00	\$59,850.00
TOTAL ALTERNATE NO. 1 BID PRICES					\$2,753,338.00		\$2,743,587.09		\$2,836,658.09		\$2,884,980.90		\$3,474,714.50		\$3,420,442.29		\$4,800,591.00

Base + All



BIDS RECEIVED ON: August 8, 2012

Item No.	Description	Quantity	Unit	Engineer's Estimate		de Boer Egolf Corp.		Olthoff, Inc.	
				Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
1.0	Mobilization and Demobilization	1	LS	\$35,000.00	\$35,000.00	\$35,500.00	\$35,500.00	\$5,581.07	\$5,581.07
2.0	Maintenance of Traffic	1	LS	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$3,704.29	\$3,704.29
3.0	Temporary Silt Fence	217	LFT	\$5.00	\$1,085.00	\$4.00	\$868.00	\$2.78	\$603.26
4.0	Drop Inlet Protection	19	EACH	\$150.00	\$2,850.00	\$200.00	\$3,800.00	\$154.35	\$2,932.65
5.0	42" Storm Pipe (RCP)	245	LFT	\$80.00	\$19,600.00	\$130.00	\$31,850.00	\$113.97	\$27,922.65
6.0	36" Storm Pipe (RCP)	27	LFT	\$70.00	\$1,890.00	\$120.00	\$3,240.00	\$117.54	\$3,173.58
7.0	24" Storm Pipe	1278	LFT	\$60.00	\$76,680.00	\$68.00	\$86,904.00	\$66.49	\$84,974.22
8.0	18" Storm Pipe	310	LFT	\$55.00	\$17,050.00	\$59.00	\$18,290.00	\$47.83	\$14,827.30
9.0	15" Storm Pipe	783	LFT	\$50.00	\$39,150.00	\$55.00	\$43,065.00	\$55.74	\$43,644.42
10.0	12" Storm Pipe	923	LFT	\$45.00	\$41,535.00	\$41.00	\$37,843.00	\$39.28	\$36,255.44
11.0	Manhole, Type P	1	EACH	\$10,000.00	\$10,000.00	\$7,900.00	\$7,900.00	\$6,306.21	\$6,306.21
12.0	Manhole, Type K	1	EACH	\$8,000.00	\$8,000.00	\$6,100.00	\$6,100.00	\$4,575.32	\$4,575.32
13.0	Manhole, Type C	15	EACH	\$4,500.00	\$67,500.00	\$2,365.00	\$35,475.00	\$2,351.74	\$35,276.10
14.0	Catch Basin, Type A	12	EACH	\$2,000.00	\$24,000.00	\$2,310.00	\$27,720.00	\$2,226.53	\$26,718.36
15.0	Milling, Asphalt, 1.5"	8693	SYS	\$5.00	\$43,465.00	\$2.30	\$19,993.90	\$2.65	\$23,036.45
16.0	HMA Surface, Type A	813	TON	\$110.00	\$89,430.00	\$79.00	\$64,227.00	\$89.52	\$72,779.76
17.0	HMA Intermediate, Type A	158	TON	\$100.00	\$15,800.00	\$88.00	\$13,904.00	\$98.78	\$15,607.24
18.0	Compacted Aggregate, No. 53, Base	441	TON	\$30.00	\$13,230.00	\$25.00	\$11,025.00	\$34.46	\$15,196.86
19.0	2' Concrete Roll Curb and Gutter	312	LFT	\$20.00	\$6,240.00	\$20.00	\$6,240.00	\$21.92	\$6,839.04
20.0	PCCP for Drives, 6"	657	SYS	\$55.00	\$36,135.00	\$48.00	\$31,536.00	\$91.25	\$59,951.25
21.0	Concrete Sidewalk, 4"	452	SYS	\$55.00	\$24,860.00	\$47.00	\$21,244.00	\$94.77	\$42,836.04
22.0	Mulched Seeding, Type 1	3205	SYS	\$4.00	\$12,820.00	\$2.00	\$6,410.00	\$2.47	\$7,916.35
23.0	Structure Backfill	2404	CYS	\$25.00	\$60,100.00	\$23.00	\$55,292.00	\$36.98	\$88,899.92
24.0	42" Concrete End Section	1	EACH	\$5,000.00	\$5,000.00	\$2,200.00	\$2,200.00	\$2,115.66	\$2,115.66
25.0	Riprap, Revetment	8	TON	\$140.00	\$1,120.00	\$100.00	\$800.00	\$164.55	\$1,316.40
26.0	Fire Hydrant, Relocate	1	EACH	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$6,173.82	\$6,173.82
27.0	Remove and Replace Guardrail	200	LFT	\$100.00	\$20,000.00	\$25.00	\$5,000.00	\$51.86	\$10,372.00
28.0	Special Manhole Connection	4	EACH	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$1,362.70	\$5,450.80
29.0	Temporary Pavement Patch	1995	SYS	\$9.00	\$17,955.00	\$1.00	\$1,995.00	\$46.43	\$92,627.85
TOTAL BASE BID PRICES					\$708,995.00		\$591,921.90		\$747,614.31